)(Denek REFRIGERADOR GSS20IEPHWW

e

¥

VN

F/\

121//. !

{ART NO. WR18562 C)

HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
www.denek.com




Y<Denek 1 REFRIGERADOR GSS20IEPHWW

Guia Descripcion # de parte
5 DART CLIP WR02X10431
6 Tail Handle - White WR12X10388
7 Door Handle - White WR12X10332
11 TRIM RECESS WW WR38X23207
12 Freezer Door Stop Plate - White WR02X10576
14 Freezer Door Gasket - White WR24X10302
16 Closing Cam - Black WR02X11478
21 Freezer Door Shelf WR17X12069
23 Freezer Door Shelf WR17X12075
31 Dispenser Grille Tray WR17X10712
34 HARNESS RECESS DISP WR23X10480
35 Screw - 8-10 PLPNP 1/2'S WR01X10649
36 Dispenser Door Solenoid Assembly WR62X10055
45 Door Recess Retainer WR2X8818
56 DISPENSER LIGHT WRO01X37886
58 Dispenser Housing Shield WR17X11170
60 SCR 4-10 PL PNP 5/16 S5H WR01X10656
61 Lamp Socket WR2X9561
62 Dispenser Door Assembly or Flapper WR17X11653
63 Recess Door Spring WR02X10585
67 Dispenser Door Recess Crank WR17X10706
69 Ice Funnel - White WR17X11264
70 Funnel Extension WR49X10075
72 Micro Switch WR23X10783
74 Torsion-Fit Spring WR49X10233
76 Water Line Sleeve WR2X8933
80 Union Connector - 5/16 WR02X11330
93 Recess Display - 4 Button WR55X10443
121 Lower Tail Handle WR12X10106
134 SCREW WR01X10019
152 SCR 8-18 ABFLTR 5/8 S WR01X10596
153 SCREW-PKG 12 WR1X1505D
180 SCREW 8-18 X 375 WE02X10011
181 Screw - 10-32 F HXW 3/4 S WR01X10655
900 KIT DOOR TEMPLATE SERVIC WR49X10141
914 THIMBLE DOOR TOP WR01X10200

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM
www.denek.com




2<Denek )] REFRIGERADOR GSS20I[EPHWW

214

e
/
/
4
'/
;
\
! \
\ (.’f .,
8 /}
N
LY
>\.\}\\
\___

b2
<
. o

X552 195 ! "~ (ART NO. WR18407 C15)

HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
www.denek.com




Y<Denek 1 REFRIGERADOR GSS20IEPHWW

Guia Descripcion # de parte

87 Screws - 12 per package Wz4X241D
151 Shoulder Screw WR01X10623
164 GASKET DUCT FZ WR14X10049
165 GASKET DUCT FZ WR14X10048
167 DUCT AIR FZ WR17X11792
175 Screw - 8-18 ABIHW 5/8 S WR01X10652
177 SCREW-PKG 12 WZ4X338D
205 FASTENER PUSH WR01X10318
207 SUPT WR2X4676
208 Freezer Shelf Support WR02X11561
213 Evaporator Cover Side Gasket WR14X10054
214 Evaporator Cover - White WR17X12134
225 TUBE DRAIN WR02X11476
228 REFRIGERATOR EVAPORATOR WR87X28949
229 Evaporator Thermistor Clip WR02X10552
230 Defrost Heater Harness Kit WR51X10101
240 Defrost Thermostat WR50X10068
241 Temperature Sensor WR55X10025
243 Temperature Sensor WR55X10025
247 ORIFICE EVAP FAN WR17X11626
248 GASKET FOAM WR14X10050
251 SUPPORT WR2X2880
256 DUCT AIR WR17X10780
258 SHIELD LIGHT FZ WR17X10765
261 FZ Bottom Hinge & PIN ASM WR13X11005
262 Hinge Cam Riser WR02X11743
268 SCREW MOBILITY WR01X10199
278 MOBILITY FRONT Assembly WR02X12454
279 PIN PIVOT Assembly WR02X12254
280 CAP CORNER OC WHITE WR02X10549
286 THERMISTOR COVER FZ WR17X10728
288 GRILLE BASE Assembly White WR74X10153
289 Grille Clip WR02X10560
290 BAR CURB HANDLING WR17X11444
435 Light Bulb 40W 40A15
437 Light Socket & Terminal WR02X10591
446 Top Hinge and Pin WR13X10286
447 Hinge Cover WRO02X11623

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM
www.denek.com




Y<Denek 1 REFRIGERADOR GSS20IEPHWW

Guia Descripcion # de parte

552 Screw 12-24 tt hx .811 WR01X10600
560 Screw - 12-24 CAHX 7/8 S WR01X10650
578 Hinge Cover Screw WR01X10379
607 Dust Cap WR02X10322
608 SWITCH LIGHT FZ WR23X21444
610 Evaporator Fan Motor WR60X10185
611 BRACKET EVAP FAN Bottom WR02X11622
612 BRACKET EVAP FAN TOP WR02X11124
613 EVAPORATOR FAN BLADE WR60X30922
614 Lid Bumper WR02X10540
615 Evaporator Fan Grommet - Grey WR02X11331
652 Compression Ring WR02X12149
809 Water Tube Fastener WR1X1936

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM
www.denek.com




d<Denek )] REFRIGERADOR GSS20[EPHWW

N

"R
(ART NO. WR18778 C4)

Guia Descripcion # de parte

172 SCR 8-18 AB TSQ 5/8 Stainless Steel WRO01X10380
178 SUPPORT SLIDE BASKET Assembly WR72X10134
179 SUPPORT SLIDE BASKET Right Hand WR72X10097
206 Freezer Wire Shelf WR71X10715
210 Freezer Shelf - 3/4 WR71X10234
211 Freezer Slide Out Drawer - White WR21X10015

HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
www.denek.com




)(Denek REFRIGERADOR GSS20IEPHWW

12} e

(ART NO. WR19245 C)

HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
www.denek.com




Y<Denek 1 REFRIGERADOR GSS20IEPHWW

Guia Descripcion # de parte
5 DART CLIP WR02X10431
6 Tail Handle - White WR12X10388
7 Door Handle - White WR12X10332
17 Fresh Food Door Stop - White WR02X10575
18 CAM & THIMBLE FF WR02X11479
103 GASKET DOOR SXS WR24X10298
106 Dairy Door - Clear WR22X10013
109 Refrigerator Door Bin - White WR71X10236
115 Refrigerator Door Shelf Bin WR71X10235
121 Lower Tail Handle WR12X10106
152 SCR 8-18 ABFLTR 5/8 S WR01X10596
181 Screw - 10-32 FHXW 3/4 S WR01X10655
910 DOOR 20 FF White WR78X11696
911 THIMBLE TOP CLOSED WR01X10201

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM
www.denek.com




d<Denek )] REFRIGERADOR GSS20IEPHWW

f 578
A-.-.“ 7

§——560

434

(ART NO. WR19383 C94)

HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
www.denek.com




Y<Denek 1 REFRIGERADOR GSS20IEPHWW

Guia Descripcion # de parte
242 Temperature Sensor WR55X10025
262 Hinge Cam Riser WR02X11743
263 Bottom Hinge Pin WR02X10592
324 PLUG BUTTON WR2X7051
420 GASKET CONTROL HOUSING WR14X10044
421 HOUSING CONTROL WR17X11629
424 BOARD Assembly ENCODER W/HRN WR55X10399
425 Temperature Control Knob WR02X10570
426 Damper & Gasket WRO09X10050
427 GASKET DAMPER WR14X10047
429 COVER DAMPER WR02X13409
431 CAP MULL DCT WR2X9299
432 DUCT MULLION WR02X10561
434 GRILLE AIR RETURN WR17X10262
435 Light Bulb 40W 40A15
436 REFLECTOR LAMP WR02X10578
437 Light Socket & Terminal WR02X10591
442 COVER MEAT PAN DUCT WR02X10763
445 Compression Ring WR02X12149
447 Hinge Cover WR02X11623
448 Top Hinge and Pin WR13X10285
449 NUT SPECIAL WR01X10191
451 DISCONTINUED WR13X10724
455 COVER SENSOR FF WR02X12258
552 Screw 12-24 tt hx .811 WR01X10600
560 Screw - 12-24 CAHX 7/8 S WR01X10650
578 Hinge Cover Screw WR01X10379
609 Light Switch WR23X10725
810 WATER STORAGE COIL WR17X11324
811 WIRE TIE WR02X11607

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM
www.denek.com




d<Denek )] REFRIGERADOR GSS20IEPHWW

I

{ART NO. WR19023 C17)

HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
www.denek.com




Y<Denek 1 REFRIGERADOR GSS20IEPHWW

Guia Descripcion # de parte
400 SHELF CANT WR71X10237
401 SHELF CANT GLASS WR32X10591
402 REFLECTOR GLASS SHELF WR38X10210
403 TRACK CANT SHELF WR71X2588
404 Glass Shelf Trim WR38X10209
407 PAN Vegetable WR32X10837
408 Lower Crisper Drawer WR32X10838
409 Glass Cover Insert WR32X10140
411 Handle - Meat and Vegetable Drawer WR17X11233
414 GASKET PAN COVER Front WR14X10085
415 COVER PAN GLASS WR32X10141
417 GASKET SHIELD LOWER WR14X10056
468 Bearing Slide WR1X2048
478 Drawer Slide Rail - Left Side WR72X239
479 Drawer Slide Rail - Right Side WR72X240
480 Drawer Slide Rail - Right Side WR72X242
481 Drawer Slide Rail - Left Side WR72X24
551 Package of 12 Screws WZ4X244D
554 SCR 10-24 TT IHXW 1.000 WR01X10601

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM
www.denek.com




2<Denek )] REFRIGERADOR GSS20I[EPHWW

(ART NO. WR19740 C)

HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
www.denek.com




Y<Denek 1 REFRIGERADOR GSS20IEPHWW

Guia Descripcion # de parte
269 Grommet / Tube Assembly WR17X11168
270 Grommet / Tube Assembly WR17X11168
320 Front Dispenser Bucket Auger Nut WR01X10315
321 Retainer Ring (E-Style) WR1X1367D
322 Refrigerator Ice Crusher Spacer WR02X11266
325 Housing Crusher Dispenser WR17X11505
326 Washer - Package of 12 WR1X1366D
328 PIVOT WR2X4143
328 Ice Deflector Spring WR2X4561
329 WIRE ACTUATOR DISP WR17X11403
330 SPRING DEFLECTOR INT. WR02X11768
331 RETAINER SPRING WR02X10580
332 BLADES MOVING DISP WR17X11239
333 BLADES MOVING DISP WR17X11240
334 BLADES MOVING DISP WR17X11241
335 Icemaker Auger Assembly Spacer WR2X4139
336 Crusher Stationary Spacer WR2X4138
337 Crusher Stationary Spacer WR2X4138
339 Roll Pin WR2X4141
340 Blade WR17X2058
342 STATIONARY BLADES Assembly WR02X10691
350 Ice Bucket Auger WR17X11705
352 Ice Dispenser Bucket WR30X10017
354 Ice Bucket and Auger Assembly WR17X23191
358 Drawer Slide Rail Bracket - Left Side WR72X10169
359 Drawer Slide Rail Bracket - Right Side WR72X10170
360 Ice Bucket Diverter Overflow WR17X11450
361 COVER MOTOR & SOLENOID WR17X11788
362 BRACKET SHELF WR02X10971
363 BOOT AUGER MOTOR WR02X11295
365 Dispenser Auger Drive WR02X11941
367 SCR 8-18 TPT 1/4 WR01X10618
369 Auger Motor WR60X10258
371 Screw - 10-18 Hi/Lo hxw 1/2 WR01X10619
375 HARNESS MOTOR DISP WR23X10402
377 Solenoid Saddle WR2X7309
378 Ice Dispenser Solenoid Service Kit WR62X23154

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM
www.denek.com




Y<Denek 1 REFRIGERADOR GSS20IEPHWW

Guia Descripcion # de parte

379 ARMATURE KIT WR62X26536
380 ARMATURE KIT WR62X26536
381 ARMATURE KIT WR62X26536
382 ARMATURE KIT WR62X26536
383 Ice Dispenser Solenoid Service Kit WR62X23154
384 ARMATURE KIT WR62X26536
385 ARMATURE KIT WR62X26536
387 Bucket Cover WR17X23192
416 Chiller Shelf WR71X10961
804 IM GUARDRAIL WR29X10054
820 Ice Maker WR30X10093
821 Refrigerator Ice Maker Cover WR29X10068
822 GROMMET WR02X10678
823 Screw - 8-18 - 5/8 Stainless Steel WRO01X10789
867 Refrigerator Ice Maker Fill Cup WR29X10109

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM
www.denek.com




d»Denek | REFRIGERADOR GSS20IEPHWW

HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
www.denek.com




Y<Denek 1 REFRIGERADOR GSS20IEPHWW

Guia Descripcion # de parte

98 SCR8-36 T WR1K1

226 CLIP DRAIN TUBE WR02X10558
257 FASTENER BOARD WR02X10159
264 WHEEL MOBILITY WR02X10695
265 AXLE WHEEL WRO01X10604
269 Grommet / Tube Assembly WR17X11168
270 Grommet / Tube Assembly WR17X11168
462 SCREW WZ6X136
614 Lid Bumper WR02X10540
616 COVER ACCESS WR82X10107
618 Evaporator/Condensor Fan Grommet WR02X10098
626 Power Cord WR23X10300
627 Water Tubing Clip WR1X5278
628 HOUSING BRKT Assembly WR17X12728
629 SCREW 8-18 B 1HW 1/2 SN WHO02X10126
630 SEALER PLUG WR2X4097
650 Condenser Fan Motor WR60X10220
651 Condenser Fans Blade Assembly WR60X10207
652 Compression Ring WR02X12149
676 SCREW WD2X5166
683 FASTENER PUSH WR02X10562
684 SCREW 8-32 X 625 M HXW S WBO01T10047
690 SCREW-PKG 12 WZ5X158D
691 BRACKET COND FAN WRO02X11742
725 Compressor Kit WR87X20798
726 INSUL TUBE FOAM WR82X10086
729 Run Capacitor WR55X24064
730 Formed Condenser Assembly WR84X10022
733 Start Relay Switch WRO07X26749
734 PROTECTOR CAP WR02X11557
735 Overload Switch WRO08X10025
736 Clip WR2X8203
737 GROMMET WR02X22869
738 CLIP COND WR2X7064
740 R134 DRIER WR86X25269
741 STUD MTGCOMP WR1X1779
742 SUPPORT CONDENSER WR02X10587
743 SUPPORT CONDENSER WR02X10588

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM
www.denek.com




Y<Denek 1 REFRIGERADOR GSS20IEPHWW

Guia Descripcion # de parte
749 BAFFLE COND AIR WR17X13159
750 SCREW WR1X1786
751 BASEPLATE HI WR17X10773
753 BRACKET EVAP FAN SM WR02X10100
757 SCR 10-32 TT HXW 5/16 S WRO01X10654
758 Screws - Package of 12 WD2X323D
762 FOAM STRIP SE Adhesive WR14X10053
764 CLIP COND WR2X9000
765 BRACKET CONDENSER BAR WR17X10763
780 CLAMP DOUBLE TUBE WR02X10623
800 Water Inlet Valve WR57X10050
801 BOARD ASM MAIN CONTROL WR55X10942C
805 Water Tubing Clip WR1X5278
806 Water Line Plastic Tube- 1/4 Inch WR17X11625
843 COVER ENCLOSURE Assembly WR17X12077
844 INSULATOR MAIN BOARD WR02X10569

BENITO JUAREZ #1500 GPE ZITOON, CD. GUADALUPE NUEVO LEON TEL: 8183377999 Y 49
HORARIOS: LUNES A VIERNES 8:30 A 6:00 PM Y SABADOS DE 8:30 A 2:00 PM
www.denek.com




